2) EQUIVALENZE CON LE MISURE DI SUPERFICIE

a) Risolvi le sequenti equivalenze

0,04 dm? = cm?
18m?2 = dm?
210 dam? = dm?
24m? = dam?
0,037 dm? = mm ?
130 dam? = hm?
60 dam? = km?
0,061 dm? = cm?
64.000 hm? = km
40 dam? = hm?
0,015 dm? = mm *
710 dam? = dm?
610 dam? = m?
98m? = mm ?
68m? = cm?

=

b) Risolvi le seguenti equivalenze

700 dam?

1

m2

720 dam?

hm?

31m?=

300 dam?

hm?

m2

34.000 hm? =
75 m? =

2

km

0,048 dm? =

mm?

520 dam? =

0,024 dm? =

0,046 dm? =

07 m? =
200 dam?

530 dam?

550 dam?

0,071 dm? =




